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Note : Belore answering the questions, read carefully the instructions given on the OMR sheet.
et e Sdbot Suoss OMRE ey HBdod’ giaeds SRSl @evdm SSted.

SECTION—I : MATHEMATICS

A. If the ratio of the sides of & triangle is 1:1: +2, then their angles are in the ratio
LY Dghet Sad gheluon T50 1: 1 2 swn, of Srtuos 50
(1) 1:1:2 @ 1430 3 1:/3:2 4 1:1:42

2. The angle of elevation of a top of the tower from a point 120 m from its oot is 45°. How much
the tower i3 to be raised when the elevation is to be 60° at the same point?

120 R ssies deed of Hogndy 45° S Seines 2o, of gfeie el o0 Sptw 60° Bmiadt
LMoy Boftie Job hesnbn
(1)- 12043 m (2] 120m i3 1203-1m 4 12003+ m
2. If A+ B= 135, then (1 +cotAll+cot B =
A+ B=135 waand, (1+cot Al +cotB =
i 1 @ =1 @ 2 (4 -2

#. Current generation computers are

it TENE fo Soirpsds
{1} Babbage machines {2)] Numen machines

sy 2alis snaf Sk ’
(3} Leibnitz machines (4] Pascal machines

sy Tl 2w 2ol

8. The main component in the 2nd generatbon computers is
Toliitida Selradd’ potitam GBAeIeARD

(1) transistor {2} integrated circuit
WP ardel Decimes
|3} wacuum tube (4} MNone
iy e o iy
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(l- The centroid of the triangle whose vertices are (1, 4), (-1, - I, (3, -2 is
(L 4 (=L - 1 (3, - 2) oo Dotsges Soraar Mo Slue Qul), Ntbdaimie

(1 n -3 2 g B3 m-g @ L4

T. The area of a triangle whose vertices are A[3, 3), B(ll, B and C{8, 13 is
A[3, 2), B, 8 setaw C[8, 12) e Dothipes g fo @b Progs

1) 23 [2) 24 (3} 25 (4 26

B. The distance between the points (o cea25, O) and (0, a cos65°) is
2 cos25", O Sebotis (0, a cos 65| Dellxye Bafy Sntiin

1} a 2) 2a 3 3a 4 0

8. The coordinates of the peint which divides the line joining the points 2, - 4) and (5, 6 in the

ratio 5: 3 are
[2, -4} 2oty [5, 6 st Dotutpe Sep 500let: 5 3 2506 polons Doty
m (2 -21) @ (-2-n) @ -2 21) 'm (2. 21)

10. If 2x - 3y+ 5= 0 and 4x + ky-2 = 0 are two parallel lines, then the value of k is
2x - 3y+ 5= 0 2edcin 4x + ky -2 = 0 oind Srosopd k =

{1 -6 2 -3 [ 32 4 &
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11. The point an the Une 2x - Jy = 5 which is equidistant from (1, 2 and (3, 4) ia
1, 2 Boda (3, 4] Lotsyeds Stuanstad® pour Jr - 3y = 5w sudlep e Dty

m @23 2 M@0 3 -1 4 @G

12. The triangle formed by the points (0, 5), (5, 0] and (0, 0} is afan
(0, 5), (5, 0 sl [0, 0) bgjod’ Do Beuen ’

{1} equivalent triangle [2) isosceles triangle
St (eites Hefuerimg (Dt

3] scalene triangle 4] right-angled iriangle
Ipooe A esul'e Dbt

13. The slope intercept form of the lne ax+by+c=0is
ax + by + o= 0 3ocde Dok, e eobios SPEH0

[ y+%+§-{! i2] y-i:.f?‘:.u i3 y+%-§-a * y-

14, The equation of the line passing through {1, 2) and perpendicular to x+y+1=0is
x4 gt 1= 0 s Soelel conar peer (1, 2) Delllp oo Jou, soider Blustee 7

] y-z+1=0 2} y-x-1=0 @) y-x-2=0 4 yex-2=0
| ,
15. The line joining {-1, O and [-2, =-+3) makes an angle of ............ with x-axis.
[~1. 0 mebctan (=2, - +/3) Dollipetis Soulp Hotle - ofef ... st Boaa
1) aoe (2 &5 (3] & (4) 75
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16. The knverse of p=gis
P = g o pRsnse o, Retse

i ~p=-gq 2) g=-p B) p==-g (4] -g==-p

17. In a class, there are 26 students. In a survey, it is learnt that B would like to take tea but not
eoffee. If the number of students who like tea is 16, then the number of students who like
only coffes but not tea is

L5 oonod! 26 fwed Soymen Suik, H06 8 oo Rt o o P, 16 D00l O i, s T
ampds el Bosy

i1} 18 2 & 3] 24 {4 10

18. [l ArB=g, then B A" is
AnB=$uooud BAd =

(1} A 2y B (@ A 4 B
x1-9 .
19. fix) = ~—3 defined, If its domain is
x%-39
fqu:TEmmMm
[y 3 2} Z-13 3 k-3 4 R

20. The range of y=tanx is
W= tan e et Pl Quy ob

m -1 9 2) o= =] 12 ['—; %J [4) None (38 )
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21, If a® + b2 +¢? = 1, then ab & be+ ca lies in the interval

a4 b? 40? = | wons, ab+ be+ oo 3 estithad® Suotiss -
m %32 2 -1 @ 4.2 @ -1 4l
, x ay?.
22. The value of the middle term in the expansion of {E+;] [
(x  ay’”
[\E+}] St Dol Sotu
1 =1
L ) Py T
(1) 252 2) -252 i3 53 i 353
23, 0 x+ye W0 and x + 2y 2 10, then the least value of [ = x + i is
x4y 10wl x + 2y 2 10 woasn, = x+ y ool 505 Sool
! n 320 2] 5 3 3/2 {#) 20/3
|
i 247 Which of the following is convex?
Bon danaed’ D8 Degmd Ald
m @ @ OO w (EL)
25, fa'/? aph¥ 02 Q thena+b+c=
alfd ¢ B3 4 3 gD, atbics
1 3 dabe 2y ¥abe (3] 27abe 1) 3 Yabe
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[x o YT 3y -

26. Li

Woal

i 1 2 -1 @ 2n 4 1/2n
27. In the progression 16, 11,8, 1,45 ty =

16, 11, &, 1, - oo S8 1, (182 s2bw) =

1 -12 {2} a9 3 -69 {a) o

28. I{ 2, &, 18, 54, .. are |n geomstric progression, then 2°, &7, 187 547 . are in

2, 6. 18, 54, - oo rorsdad® seogy, w23, 6%, 187, 547, v 00 i £ e
iy ap i2] GP

wot 4 ror 3¢
13 wp (4] Mone

wg& b T

29. The angle in & major segment of a circle is
B Ly podtasd® Blriic

11} an obiuse angle [2) an acute angle
F wQs P LY e P
13 a right angle [4] None
w5 oow B o4 e
30, &
] B C

In the above figure, if £3 is an obtuse angle, then At =
2 semet! £Bus ops fened, AC? =
i ag®+Bc? - Bo? (2] AB? « BC?

i3 Af*+ BC? +2BC- DB 4] AB? + BC® -28C. DE
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31. If the angles of a triangle are in the ratio 1 : 2 : 3, then the ratio of their corresponding sides
is

£ Seonsnt’D Smtoe 20 112 1 3 oo, d daton B0
(1) 1:43:2 @ 1:2:43 3 J3:1:1 ) 2:43:1

23. If the median of a triangle divides it into two triangies, then the ratio of their areas s
¥ Genenod’ foiedn Rasinn o Pt Teds Gfbelue SElels, o S PITEK00 SRG
o 2:1 @ 1:1 3 1:2 4 2:1

313. The distance betwsen the centres of two circles of radii i and ry is d. The length of the
transverse commen tangent is

Doty Hplh TSNy 1y Babdis ry. Seisiae Dogy e d oo, o fdoeds Gyl dlog Sl e
M T -m? @ fAT-R -2 @) @ -lhera? @ d )

c

In the given figure, the radius of the circle is 5 cm, AF = 8 cm, CD' = 6 cm. If OF makes right
angle at P on AR and OQ makes right angle at ¢ on CD, then PQ=

Sudwt' o Ty 5 om, AB - 8cm, CD = 6em. OF, AB § ceweris, 00, CD § senamts dal,
AB, CD e strebodd, PQ=

(1} 7ecm (@ &em {3 5cm 4] 4 cm

a8, Which aof the fallowing are the sides of a right-angled triangle?
ol ot 50 couthe Seoune S, fautas!
{1y 5. 8,11 (2} 6 8, 12 (3) 5&, 33, &5 4] 3 4, 6
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k A 3 -6
M.If.ﬂ.:[m 2ﬂ]. E‘a:[4 2]l.1‘|.d.|’.+E'-lI|'.I.h.l:'n:‘:::

k A i -6
A—[m ﬂn]' E-L EJM::A+E=DME,A-

i1 [43 —la] 12 [: j] i3 [_43 ﬂ 4 [:j _ﬁQ]

123 ;
aT. I|‘,|l1_=[l|1I & 5:|. E=[2]md C=[1 32| then the order of ABC is
3

1
1. T3
A:[* % 5], B:l:]mc.[l 2] woxnd, ABC Qusj, S50

{1} 2x=2 {2) 3x2 (3 2=2 19 1x2
, [l -2 1 0 )
38. Given A-E_'a -5 B= o 2 and X be the matrix such that A = BX, then X =

A:[l "2], EI'=|:l ﬂ]mxm,a-ﬂxwmwiwx:

3 =5 0 3
1z -4 -2 4 12 4 if2 4
W E[a —5] 2 E[ 3 -s] ® 5[3 —5] ™ E[—a -5]
2
an, rfRJ‘?; ¥ 1then R? =
x =y
3
R-I:xg L ]um#d,,ﬂ’-:
]
i) -2ay-I 2} 2uxy-f 3 -2x%y* - 4 2xTy? oo

40. The average of 100 numbers is calculated as 60. While calculating the average, two numbers
are taken as 72 and 28 instead of 54 and 26. If this error is corrected, then the corrected
mean (8
100 Zope Sood 60, S Sl Sodwas 54, 26 Dbl otoar 72, 28m S55had
B sTndnd, 30 Ak B sl S

(1} 596 [2) 597 (3 598 {4 585
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41. The formula for finding mode is

45,

porolEo Bt SmBdas

Ifi o R L W
W T @ e fa

;&- ) 1 L
a7 Ty TR YA

. For & given data, mode =a and median = b, then mean =

el SEOTAS IS 0, Baiyean b sous, ot S =7
1 222 @ 2% @ 22 [4) None (98 m)

. The median of the scores =4, =6, -5 3, 0, 5 and 11 is

~4, =@, -5 3, 0, 5 oolas 11 o defiche

(1 3 ) -5 3 0 (% 5
13517
Z ; 13517,
The arithmetic mean [AM) ﬂ[ﬂ'l'l-‘liﬂﬂa- T ErEe
1351 7
= =y, —— R e s
3'4'6' 2" 12
2 3 4 1
- - | I 4y -
(1} 5 12 = [3) 5 (4 z

The mean and median of a unimodal grouped date are 282 and 30-5, s0 mode is
o ctrd el Sered Bhes 08,2 Saleds Deipmotes 30.5 soxs, ol el

(1) 351 (2} 348 (3 295 4 326
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46, If the mean of the following distribution is 26, then the value of 'y is
ol Py Seen S 26 woxi, 'y e

Varable [x) 1 2 3 B 1 5
ey
Frequency @ 5
"] 1
e ; ‘
1
iy 3 2 & {313 (4] 24

47. The median of the following distribution is
G ol Dyreinac Dot

Class interugl 0-9 10-19 I
o 20-29 33—39—'
Frequency 10 16 24
9
dreditna l
{1} 2375 {2) 2325 3 23 {4 2225

48.If A+ B=90F and tan 4 wg, then cot B =

A1B=9ﬂ“i’aﬂumlanjl=§mm5-

4
m % = 2 r
: @ 3 @ 2 o 22
48, ainAmu[DCP-—Ahmnﬁnini?ﬂ"-A,h
i1) sin?aA 2} cos?a 3 o 4 1
1-un’n_
cot?@-1
1} tan®a@ 2) eat?n (3 sinle %) coa®a
SPACE mnmvnnwanx.faqmw;sm
POLYCET-2013/1-B 10

The Information Provided here is only for RBeference.It may wvary the COriginal.



www.sarkariresults.io

51, In & AABC if £B =90 and tanC= % then the length of the hypotenuse s

L% Pees ABC & £B= 90, mnCnl—Sthﬁ:f.uNﬁ:M B

| 1 e 2 13 @ 21 4 17

B3 sin? 20F 4+ cos? 61°=

(1) 2sin? 2% (2 cos?er 3 1 [4] Mome (58 pas)
; Jf?n":ﬁ'_

" Vi-sind

{1} secH+tan® {2) sech-tanB (3 sectb+tan’ @ (4] secT # - tan® B

54. If @ cosfh+ bainfl =4 and a ainf - beosf = 3, then a? +b? =

& cosd s baind = 4 2oBcin @ sin® - beosd = 3 waus, a® 4 b7 =

n 7 2 12 (3) 25 4] None (28 =)

58, tan I°tan 2® tan 3*.-- tan 8% =

[ty = 2} 0 3 1 4 None (58 =)

SPACE FOR ROUCOH WORK / Sogsod furcaseindd jolw
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86. tan? 60F + 4eon? 45° + 3sec? 30° + Scos? 9=

7 2} & 3 9 4 10

57. If tan 35 = k, then the value of 2145~ tan 125
1+ tan 145 tan 125°

tan 35 = k o tan 145°- tan 125
"T+tan 4% tan 12§ ~o

o 2
(1) @ 2 3 1ok 1ok
] 1+ k2 (3 ™ [4] ;k?
5B, if cosfi = ﬁ, then sinf =
m+n
cogl = L ot sind =
m+R
1y m+n g Mm-n 2Smn
[ L ] = men B m+n ) —
! 59, | radian =
1 38l «
{1) se°1s’ (2 sor1g {3} 5815 [4) None (24 mad)

60. If 8 is an acute angle, then cot(d - L17T0F) =
B &8 wonBimios, wuas cot@ - 1170F) -

{1} -tand [2) tan® [3) cote 9} ~cotd

SPACE FOR ROUGH WORK / qu&u

POLYCET-2013/1-B 12

Mote : The Information Provided here is only for REeference.It may wvary the Original.



www.sarkariresults.io

SECTION—II : PHYSICS

61. Positron (8 an anti-particle of

Zeadarls wiens 204 potna

(1] neutring (2] proton
Ao harets

{3 mneutron {4} electron
B e

62. lonizing powers of o, P and v rays are respectively in the ratio
o, [ msboias ¥ Steren ecmalite 990 D50 S

A, L
iy 1:10®:10% @ 1:10%:107 3 10%:10%:1 4] 10% 1051

63. At room temperature, the energy gap for pure germanium i
78 a3 25, SRR Bopare Sun, 3 weats (Jege Heetf)
(1) D72V 2} 1-1eV 3 L-21eV (4] 1:4 eV

64, The process of ‘mixing’ messages (o rf carrier waves is called
of Sthy Boomets, Haros BUomema 50 Edan

{1) transmission (2} modulation
RIS piRce m»ﬁd:ﬁ

(3] demodulation [4) scanning
domeagdal eh

68. BCD stands for
BOD wi 30l ool 508 Page

{1} Binary Computer Digit (2} Binary Computer Decimal
ELES 226 sogppl alod

{3 Binary Coded Decimal (4] Binary Coded Data
gsb 52k 2ol psb £k ous

SPACE FOR ROUGH WORK [ Souaid Suocscteds gote
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66. The relation betwesn acceleration '’ and displacement ‘x’ from the mean position of a
particle in simple harmenic motion (SHM) is given by

mwwﬂaummm(u}wnmmmmm(ﬂum
Sopage

{l) a=x (2} a=-x 13) P | i4) i
X F 4

The ratio of intenaity of magnetization and the intensity of applied magnetic Geld is called
L 3oy ol edane S0, Bl oabist §p Sgoe SEg

67,

(1] permeability 2)  susceptibility
s Supoed

(3] retentivity [4) ferromagnetism
Do) Pi i olbtiia

68. The property that change in velocity of light takes place at the boundary of two media is
found in case of

mmm%ammm;gmmmmumm

(1) refraction {Z) reflection
sz SO
(3] interference [4] polarization
Eplatirg =]
69. The working pnn:ipl‘-.l-. of & transformer is based an
1Sl D S, (o) woresas 50 des
(1) Ohm's law (2] Fleming's left-hand rule
15 Detiotay el demnade fetmans
[3) self-induction 4} mutual Bduction
Haoe ey wdpy foa

T0. The angular momentum of an electron is Eiven by
Ses da, Srban gmdne
h h h ﬂ
13

—_ s — 4
(1] 7% 2) = 3} = (]

BFMEWHMHW;WMM»
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T1. The long thin metallic strip fixed at the back of vernier calipers can be used to measure
2ol Piek, 3y o Dol dipusted) o 3o Sy eisle 520 Poiond asdaiind

{1} thickness of a wire 12} internal diameter of & hollow cylinder
drdoecinn b gy wonh e

(3] depth of a hollow cylinder (4] external diameter of a solid sphere
o gy oo Aoy oo Pypsan

T2. What {s the value of acceleration due to gravity |g) at a height of 1000 km from the earth’s
surface (radius of the carth = 6.4 » 10% m; 'g’ on the earth = 9-8 m /s?)?

gD aB0ses med 1000 L Jogf® rothts Byme (gf Dess (GrDs TydwEw = 6.4 % 10°% b, g

=0.8 hfn?)
1) & 7T4m/ e [2) 8-27m/s° 3 9.8m /s’ 4] Zero
6 74 Safn? 8-27 bofn? 9.8 Bof3? my

T3. If the distance between two objects is halved, then the gravitational force F changes to
Dot BGEE SepErte Sl BledRipis, M Rl IHRoYIge voo (F) de artiised
i Fy2 (2] 2F 13) &F i Fr4

T4, The distance traveled by a freely falling body after 2 5 is
fmap ot 52 ey Sy 2 WEoe Bowd Sdirrlels Snte

1} 2 m (@ 4-9m (3 9-Bm (4] 19-6m
2 b 4.9% 9.8 19.6 b

75. The ratio of the distances traveled by a freely falling body in the first, third and fifth second of
its fall is

gy dolits B2 gy B 18, 32 Relciy 52 Whied paree date deow 250

1) 1:3:5 2) 1:5:9 (3) 1:9:25 4 5:3:1

SPACE FOR ROUGH WORK [ Jogadd furcscdeds jodo
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T6. If the velocity of an artificial satellite iz greater than 11 km/s, then it
Y s fhe Qe e 11 kinfs Yol Jyier God, ma

(1] returns to the ground (2] rotates around the earth
OO el Suiann EPL Ly SoarBioD

{3} escapes from the ground [#] moves on the earth's surface
o oty oo Beed Blnetatowscd € GE0GESTY Snsl deiual

77. A pendulum of length 50 cm has & time period of 1 5. If the length changes to 100 cm, then
the time period is

mmhmwmummmlhwmmuwmmmmﬁm

1] 0-5s 2 18 @ 2s 4 2=
0:5% 1 2% W2

T8. The heat energy produced by completely burning & unit mass of & fuel is called
I S fiw L gediie, SoRPpeT el Doutu Sain a5da Domiatt

{1} calorific value [2) specific heat
3008 D Sadie

{3 latent heat of vaporization (4] thermal efficiency
s odlge S cgo

9. The pair of physical quantities having the same unit is
Bt 5! 3 PR SEA Al mow SOSNNs

(1) force, pressure (2) thrust, pressure
woe, bane wgees, Late

(3} thrust, weight 4] weight, pressure
wiuon, PR s, hame

80. A train moves in a curved path of radius 49 m with a velocity of 4-2 m/s. The angle of
banking to aveid accident is

L3 P 49 Lo oo e ormo Saved® 49 Bl Sned wsestuns. PRy obctond weels Mg
s
1 1

| 0wl m e 8wl e e

HHCEMRGWHWJWWQ&H
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B1, Which among the following rays has the least wavelength?
ot Ssemed® 37 DOONRE o Sod

[1] y-rays [2) X-rays
y-doemaz X-Borre

{3} Microwaves (4] Ultraviolet rays
ZpEiotomes wibutrn bere

82. Working of a stethoscope uses the property of sound called
FOIME wne BOfe &Y Doy, D Soph wpuid &0 Siged

1) resonance {2} dispersion
- % e

{3] refraction 14) reflection
sdemie sage

83. In & resonance experiment, a tuning fork of frequency 425 Hz is used so that the ﬁnl_and
second resonances ocour at 20 em and 60 cm respectively. The velocity of sound in air at
room temperature is

425 Tnf Juepne 0N POSoT ASEAled WS Pulujer PaMNe lubm Bwsd b Test
waores BT 20 Delti. Sobaks 60 Bels. 5 SboT. eipss 1S &M 2y e &0 dne

(1) 230 m/s 2] 335 m/s (3} 340 m/s [4) 345 m/s
330 fofn 335 Mofu 340 Lofn 345 bofh

84. Light energy flowing from the source per unit time as perceived by human eye is called

5ol Solngts LY Tod eSo Seed wi W Toof’ wirgitedl red ML Dhsell
(1) luminous flux [2] candlepower

Tod sl Polf 2oug o
{3} luminous intensity 4] solid angle

Tod dpe 38

85. Which among the following is not a characteristic property of laser?
ot P Baf Tod cnsa wRda

(1) Low intensity (2) Directionality
5 dpo Subost

(3] Monochromaticity 4] Coherence
Dezdan Hongl
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B6. The relative permeability ju.) of a diamagnetic material is

SR waldyet soy My plebus k)

() pr=>1 2 pos1 13 e =1 (4 Mone (54 nes)

87. The force of attraction ar repulsion between two magnetic polea does not depend on
mmeﬁwﬂnagﬂmwﬂm

1) medium in which they exist 2] pole strengths
e =T T e
(3] distance of separation 4 length of the magnet
LepEmee woldnalic S
BB. [l a plece of copper and a piece of silicon are cooled to lower than the roam temperature, then
the resistance

urﬂmamwswm%mqﬂq%wwm
{1} decreases both in copper and silicon
2, B0mS Bedotttr b

{2] increases both in copper and silicon
#af, B0l Bedoddhir b

{3) increases in copper and decreases in silicon
maba Lo, bemist B

%) decreases in copper and increases in silicon
rabe! v, bieSE B

l!.'l'hemtmaflmmwﬂnmafimknglhh?ﬁﬂ.mm!miuuncﬂn.rawimnfﬁm
length nl‘umcmnterinlmﬁn.mumur cross-section is
25 mmmmmemnmaﬁhmmﬂmmaw
B 5 O o6fge
1 40 i2) 500 3 1000 4 2000

20. Two resistances x and yare connected in parallel combination. If their equivalent resistance
ia 0-Bx, then the valus of Y i3 equal to
Pt Dial Do sl ¥ R S0rets segme SNt 3 300 6% 0.8x waasd el y dass

{1) Bx i2) ; 3 x 4) 4x
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SECTION—III : CHEMISTRY

91. The bond angle in diamond is
sptioss’ pegifmin

(1} 1095° 2 120° (3j 9o (4] 104"

2. Alkanes generally show

P = Ty o Palotcs

(1] addition reaction (2] condensation reaction
Sosu Db Sofdty Blpes

{3} substitution reaction (4] polymerization
o o 2pzabetios

93, The gas used in artificial ripening of fruits l=
Teauny DSt Gt DoSam BRtaul PO S

(1] methane {2} ethane
T 1y o8

3] ethylene 4] mcetylene
apbs L L

@4, The metal used to teat aleohol functional group is
wo il Slectls HRaPENy oot o Firhw
(1} Na (2] Mg (3] Ca (4] Cu

95. The functional group of aldehyde is
ol s, gt MoamEG

{1 —C—0—C— (2} —CHO (3) —CO—NH, (4) —CO—C—

SPACE FOR ROUOH WORK [/ Jogaod Tunoaetiods prosts
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86. The reaction that takes place when glucese is treated with Tollens reagent is
npstins O, momeelf Mo maan 2o

(1) Ag* = Ag 2) cu®*=cu 3 Ag —aAg* [#] Cu® = Cud

97. The enzyme that breaks down glucese to alcohol and CO, is

, St wmyRE St €O, m eRg g5
1] invertase (2] maltase
wigd ]
{3) zymase (4) diastase
Blad B

98. Which one of the following is peptide bond?
det st ".QE precen
(1) —Co— {2} —CO—NH— [3) —NH— H} —CO—0D—

99, Which one of the following is unsaturated fatty acid?

o8 78" oiotpd M e

{1} Lauric acid [2) Stearic acid
oof eszutio Hef ey

3] Oleic acid {4)  Palmitic acid
Eboak eonian ool eiiotn

100. Which one of the following is not an addition polymer?
B ot o0 Beten ME mo0

11} Polythene (2] PvC
Subs bty

(3] Polyacrylonitrile {4 Phenol formaldehyde resin
ouplped bd porfanpl nel

SPACE FOR ROUGH WORK [ Oiigsod Arcoteds P
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101. Which one of the following is the isobar of ac'?
Ba ot 8 ,C'Y Doy, ol

14 N.i!-
1) Y i Q) oC i3 M 4 7

102. The orbital which does not lie along the axis is

B 260 ot uge B 85wl

) Px 2 da 2 (3 day L

103, The number of electrons that can be accommodated in an orbit ia given by
w8 o i fiom ot Jey Sos =t

R 4) 2n
) n* 21 an* 3 n 14

104. The number of unpaired electrons present in sulphur is
el (regman ) Mo wowl S edg

2
m 1 2y 4 3 3 i4]

105. lonic compounds are generally formed between

-metal
metals (2) metal and non
. :;:m St Beliciy edbingus
3 two ~metals {4} noble gases
” w::'n':ha el Sroiiagpes

SPACE FOR ROUGH WORK | Sogad8 focaotinds jei
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106. The number of o [sigma) bonds present in ethylene is

wobet o bemy (5) wegre Sewy
[ 2) 5 {3} 2 1

107. Which one of the following is not having pyramidal shape?
Ta dol 08 butead wnyd B2a

{1} NH, (2] PCiy {3 BF, ) PH,

108. Which one of the following is not a Dobereiner triad?
dob 08 ol il pon

{1} C& Br,1 {2] LI, MNa, K {3 8. Be, Te (4] N, Na, K

108. The modern periodic table is constructed based on

E =L — SE EERRL RoEnSA

(1) atomic radius {2} atomic weight
BRI TR S PR

{3} atomic number 4] atomicity
E M [T St

110. Which of the following increases from lefit to right for a given period?
dob 8 Loanle® Sono ot A pgpam bume

(1} Atomic radius (2} Oxidizing property

Bmrns TN Wl iCee Mo Al !
{3] Electropositive character #}  Reducing property

£ Dty daridiing EoNOMt TRt S
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111. Atomic size in a period from left to right
o5 SocnEst soirme SiEPEe e P el D PR

{1} increases {2} decreases
Totianiazs B

(3] remains same (4} initially increases then decreases
el dotiiiy Tasies HOA BEOMD SIS

112, The formule of magnesite is

sl e
1) MgCOy [2) CaCO,-MgCOy
(3] MgCi,-KCr-6Hz0 (4) MgS0, -THZO

113. Which of the following is covalent in nature?
Aot T Sodrelb yeEte w0

[1] CaCiy [2] BeCig (3 Nalt @ Mgty

114. Stream of coal gas is passed over floating Mg during electrolysia of MgCf p to prevent
Mﬂrzwwmugimﬂw ........ PR L

(1) oxidation of Mg {2} reduction of Mg
Mg whsnie Mg getosbiesio

(3] waperization 4] solidification
b sarkgminmes

115. If n moles of solute are dissclved in 500 m! of a solution, what is it molarity?
m.ﬁh&mﬁ#;&adﬁamﬂnmw o g Rt

M n {2} nf2 (3} 2n 4] 5n

SPACE FOR ROUGH WORK | 585508 humcmeSols jeis
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116. The mole fraction of H;O when one mole of HCY is dissolved in three moles of water is
3 2rdo B8 | e HOY 3 0o o e B 2ed gerion

{1y 025 (2} 033 13 066 {4) 075

117. Which one of the following is acidic in nature?
ol 0% ey dprinis So8

(1) 8i0gy (2} NHy (3) NasO {4 MgO

118. The colour of methyl orange in NaOH solution is
NaOH paines’ 23d wbef s

(1) wellow (2] orange
Et ) wilied tars

(3) red (4 blue
Sy Seo

119, K. of water at 25 °C in mole? /litre? is
25°C 2g b ooy Ky, Deod 287 bl et

i 1xig™ 2 1x10°13 @ ix10™M8 4 o

120. The pH of 0001 NHC? solution is
0001 NHC/ dsw, pH S

(1) 2 2 001 3 1 4 3
NDhE r The Infermr-torereororoer—trere— e orir—fo—fefe et —ma eSS ginal .



https://www.sarkariresults.io/previous-year-question-papers/

	POLYCET2013_001.pdf
	POLYCET2013_002.pdf
	POLYCET2013_003.pdf
	POLYCET2013_004.pdf
	POLYCET2013_005.pdf
	POLYCET2013_006.pdf
	POLYCET2013_007.pdf
	POLYCET2013_008.pdf
	POLYCET2013_009.pdf
	POLYCET2013_010.pdf
	POLYCET2013_011.pdf
	POLYCET2013_012.pdf
	POLYCET2013_013.pdf
	POLYCET2013_014.pdf
	POLYCET2013_015.pdf
	POLYCET2013_016.pdf
	POLYCET2013_017.pdf
	POLYCET2013_018.pdf
	POLYCET2013_019.pdf
	POLYCET2013_020.pdf
	POLYCET2013_021.pdf
	POLYCET2013_022.pdf
	POLYCET2013_023.pdf
	POLYCET2013_024.pdf

